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| Calculer une longueur avec le théoréme de Thales | Jk \ v \ |

Calculer la longueur demandée.

1) | &0/ (M) 2) | (@M)//(KT)
M LK =2 cm J JL=42cm
K M
7 1
LI = 3,6 cm KJ=7cm
1 L
LJ=9cm K JM =54 cm
J
KM= 7 IM=7?
3) | (RD)//(VU) 4)| (su)//v)
SR =5 cm v RS = 2,8 cm
U T
SU = 3,6 cm UR =2 cm
S
ST =6 cm R VR =5 cm
VR=7 TS =7
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1) (KI)//(M.J) 2) (LM)//(KI)
LK =2cm J JL=42cm

M
K M
I 1
LI =36 cm KJ=7cm
1 L
LJ=9cm K JM =54 cm
J

3) (RT)//(VU) 4) (SU)//(TV)

SR =5 cm RS = 2,8 cm
v T
SU = 3,6 cm UR = 2 ¢m
S
ST =6 cm R VR =5 cm

VR =2 cm TS =4,2 cm
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